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1. et < smem ) s A g

Dimension of nut is expressed in terms of,

(a)  ¥ee HHlg U/ Core diameter of the bolt
() ez F Y/ Head of the bolt
(c) HIee ol =0 =41 / Pitch diamoter of the bolt

Jd) siwe &7 e <are / Nominal diameter of the bolt

2. S M = Iwam g 2

Dowel pins are used for

(a) ¢ R A / Measurement of depth of hole

(b) D9 H U B A / Measurement of diameter of hole
S aE ek v i Rre/ For locating purpose

() sy Fastening .

3.  ACME 9t sl v

Angle of ACME thread is
(@)  60° @ 5o
(cy 29° , (& 37

4. T wrle o ulEe g @6HT w1 7 s 3 T ey ST 3 fer <) stavaswar 7

What size of drill will be required to achieve @6H7 hole through reaming in a steel work

piece?
(@  6.0mm ' (b 62mm
{c) 5.5 mm Y7 5.8 mm
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5. i e <0 ot wreard v R e ) e

Groves provided on the entire length of the body of a twist drill are called
(a) </ Webs by fe/ Lips
(gy ! Flutes (d) EKIT(T [ Margins

6. Vo Rt o At W S ®
Material of twist drill is generally
(@) - Al €t/ Cast steel

\@)/. F= g wet / High Speed Steel
(¢) €/ Diamond
(@)  mEigs/ Carbide

7. frefifaa i & - gredor gk s e St d g ?
Which one of the following frictions occurs in an unlubricated bearing?
(a)  gdient i/ Sliding friction
) UférT w1 =dor / Rolling friction
() R oy / Fluid friction
(dy" Y=/ Dry friction

8, Toreh wieeh @l T PR TR
Most important quality of any lubricant is
\(;a’)/ TOHEAT / Viscosity '
(by  ff¥te e / Specific gravity
(¢  TafTe ot/ Specific heat
(d) U/ BEmulsification

TE-02 ' 4 March 2019
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9. ThferRaa o § Brwr arg ol wehiem v, iae 6 s 18 27
Which one of the foﬂowing metals does not require any coolant during machining?

(a) g / Aluminum oy gudi@Rr/ Cast Tron

(c) e/ Copper (&) I/ Steel

10, wh e 5t fig o
Point angle of scriber is,
(8)  5°to 10° | 0 300
(€  12°to I5° S (d) 60°

11, T et 3 <fver o Freeree @t w sar 2

Clearance between mating parts is measured by,

(a)  TIA TS ERT/ Dial Gauge (b) MAS/"Go" Gauge

(¢)  HHRI T/ Caliper Gauge S TRt 41 W / Feeler Gauge

12. ush sofieh Fefe « s frafasRudad
A block spirit level is used for checking the |
(a)  hael FEEL/ Vertical level only

P w9 wt/ Horizontal level only
(c) el &rsa e el / Horizontal and Vertical level only

(d) ohaeT ShIvTR 419+ o 78 / Angular measurement only

TE-02 5 March 2019
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13, gt ueh e 2, e s — A % g Rl
Pyrometer is an instrument used to measure
(a) T aEE / Low temperature by = asar / Low humidity
fy SR/ High temperature (d) 9= 3nsar/ High humidity

14, 3 # srcgfe o yyg & A vl e Ry s, i
Aluminum in its pure form is not used for engineering work because
(2) =8 [U S e/ It is brittle
() aﬁﬂ@ﬂ%v_ﬂ@ﬂ% /Tt is very light
(©  agwEmR/ It is costly
\(;32{ ‘et wtagett el @ell / It lacks strength

15. T3l <hl HPHVER ST ©

Heat treatment of metals is necessary

(a) gae! % 378 3@ & o1/ To make good appearance on the component
}}5{ FS ety gifesa aefeh ‘\T}fﬁ T IAH FH & 1 / To produce certain desired mechanical

properties

(c) 216 i SIS S o 7T/ To make the metal rust-proof
(@ SRE T/ All of the above

16. HerfrT ellR W — =i ued ormeh ST 8
CGalvanized Iron is coated with
(a) @/ Lead @Y SN Zine
(© A/ Tin (@ afar/ Copper

TE-02 6 March 2019
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17 &<ff 15t =h) shalar g =nfim
Hardness of slip gauges should be,
{a) 5bHRC (by 58 HRC
@ 64HRC (d) 50 HRC

18. = EEIR
Pig Iron is _
(a) WIS H 98% G E Y/ 98% pure form of iron
(by R 96% Y& ®I/ 96% pure form of ivon
{c) TR bl 97% F& ¥/ 97% pure form of iron

,\’(;21’)/ TR ol STE T / Impure form of ivon

19. TG =g ol oh1e 6 T TET I 1T 6l AT 3wt Rcir gar =nfew?
What should be the nominal pitch of a Hacksaw biade for cutting soft material?
(a) 2 mm \(/b)’ 1.8 mm
(c) 14 mm {d) 0.8mm

20, T FIET T 61, T & St 3 oA e R ST 2, o 9 e 3 e e ) el

The type of fit achieved when the female part is heated to assemble with male part is called

(@) e fhe / Running fit (b) R e/ Wringing fit

Jé( HF= fibe / Shrinkage fit @ e / Force fit

TE-02 7 - March 2019
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21, 3 Q H— a1 ST, geid s wgaar gyl a7
Which one of the following dimensions shows the largest tolerance?

(a) 40+0.05, -0,02 (b) 40+O.05, -0.03

( c) 4070.01, —0.05 V(& 40+0-01, -0.1

29, a7 Ave # G | mﬁ‘wwméﬁﬁ%ﬁmﬁmmﬁ

What type of defect is caused if higher than recommended current is used in arc welding?
(a) stfgaifa / Overlap 7
ny ?ﬁfﬂﬁq / Undercut

() «rg-Ts%/ Blow holes

(d aIgae Faay / Slag inclusion

93. FreaRrRaa T8 B T uigy S o1 A § 0
Which among the following is standard form of pipe thread?

(a) BSW b BSP |
© BSF @ ffiew / Metric

24, W e S ST Y
Grinding fluids are mainly used to,
(2)  OfRT e BT ARSI % ofr=r oo &9 T / Reduce the friction between the wheel face and
the job
b))  SErE &t gremT / Wash away chips
M qfg s YrReT ST / Prevent loading of wheel

(d) qﬁ@%ﬁgw / Improve the finish :

TE-02 8 March 2019




§m4i 5]

U R RAO SATELLITE CENTRE, BENGALURU SET
| FITTER A

25. g il e 7, iy ong e o wwe E W 3w R seare e

Commonly used proportions of alloying elements in High Speed Steel are,

o

18% erEeT, 4% wifteny ofit 1% Hfeam 7 18% tungsten, 4% Chromium and

1% Vanadium

(b)  18% WM, 4% e AR 1% S4&aw / 18% Chromium, 4% tungsten and
1% Vanadium |

() 18% RfeTm, 4% Difmn 3T 1% wed / 18% Vanadium, 4% Chromium and
1% tungsten |

(d)  18% FIeTee, 4% shifem 20 1% AfE9m 7 18% Cobalt, 4% Chromium and 1% Vanadium

26. fiee <) 7§ shislge s 5 ofrd R IR AN

Tip of a cemented carbide tool is joined on the shalnk by,

(a) eI/ Welding

(b)  ®TSH BRI/ Soldering

M S gRT/ Brazing

() T HSeRedT/ Clamping with a screw

27, TTH T -1 H5 I HT 9T TRl 7

Which one of the following is not a part of the centre lathe?

(a)
(©)

TE-02

7T €8 / Feed rod (b) 3w/ Lead screw
H1fS / Saddle : @/ H&h [ Arbor
9 Maxch 2019




1 U R RAO SATELLITE CENTRE, BENGALURU SET
Rl i | _ FITTER A
28, F e WER — ——— & R gl

Slots are provided on angle plate for,
\9&’ s siiee / Accommodating bolts

(b) g EW WeHAT/ Hanging with hooks
(c) IR YR/ Reducing weight

(@ W HH @/ Aligning the work

29, e @ T gu et < g R S ARy
An oily floor should be cleaned by,
(a) H@f‘f/ Cotton waste

(b)y ST/ Water

(& WY/ Saw dust
(d CO2(0V) mﬁ\%@ﬁ { Spraying COz (OV) Sand

9 awia T er, e YA R I R
The study of pneumatics deals with system operated with,
(a) d@/O0il (b) 3E/Solid
(¢) w1/ Water & I\(}i’) g / Air

31. PRt 1 wn—d ged il urg 27
Which of the following is the heaviest metal?

(a)  dia/ Copper (b)) SIgmEEH/ Aluminum
{c) Aif¥EM / Magnesium Jd’j H#ar/ Lead
TE-02 : 10
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32. IR UHAR

Four Micron is

(@)  0.04 mm @/ 0.004 mm

{c) 0.0004 mm () 0.4mm

33, 3T 3f Foreget kSl e 3

" Best Conductor of heat and electricity is

(a)  @IPREA/ Chromium (b) et / Nickle
(oY dien/ Copper () syfifem /7 Aluminum

34. el e B SO gerat e Swe e s S R

Cast Iron is used to manufacture machine beds because

(2) =% U RIATR/ It is brittle |
(b)y FewlrEarR / It is heavy N
(¢) SFREEE/Itis cheap -

N(ﬁ/ 8 TFRST YR T S0 tar & / It resists compressive load

35. %%ﬂ%wﬁwﬁmﬁ—;——ﬁﬁﬁ%ﬁ‘@m%l

Spring washers are used under nuts to prevent

(a) e Hahr/ Damage to the bolt
(by e H @I/ Damage to the nuts
(c) S« <l &1 / Damage to the jobs

R T 3 U1 ¢ T LA / Slackness of nuts due to vibration

TE-02 11 March 2019
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36. MHEITH—— 3|
Graphite is a
{(a) Wd g / Liquid lubricant

(b)  =tf-ared Sigw / Semi-liquid lubricant
ef ST/ Solid lubricant
() 39O T d A 78/ None of the above

37. FSRAT WA % e, wig tferen w3 37— —— W B
After hardening process, the metal becomes more hardened and also will become more
(1) T/ Tough () @/ Ductile
@ 90qu/ Brittle (@)  emEmwEstar / Malleable

38. 25.025 T S 37 24.994 F IR =4rE & Feqet Bpan iy sraiem, frafafea #  sl-ara?
Which of the following fit is produced with the shaft dia 25.025 and bore dia of 24.994?

(@ =R/ Interference (b) FrswRF /7 Clearance
© ®H/Shding (@ <IST/ Running
39, éﬂ@%“——%@(aﬂﬁr\?ﬂﬁ%l
Crane hooks are made of
(3 Toeat=ter/ Wrought Iron (b) Il / High carbon steel
(¢)  didei/ Brass (d) ¥/ Lead

TE-02 12 March 2019
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-40. e U8 R — R Wi Ry ST e B

AL, R ok s (3/4)" W, aq dEm (1/6) WA 7 il R, ot v den i (4/9)° yerd

High Surface finish is obtained by

(a) UM/ Grinding (b) @UE/ Turning

\S;‘X qEr gy / Lapping (d) 999/ Milling

If (3/4)% of a number is 7 more than (1/6)# of the number, then (4/8)4 of the number is

186 (b) 12
(©) 20 (d) 15
, 0, q-1
42 %_%%W%
21+M39,_; is equal to
(@ 1 Sy -2
{c) d 2

13 aRa= {241}, b= (2-1) 2@ 4 b wumd

Ifa= (\/5+1), b= («Efl), then the value of —L+mis

(a)
(c)

TE-02

BEa
+i '

ar) (b+1)

1
(a+1) {(b+1)

b 3
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44, AR m, n; owartirder svh i ¥, q Frefifea i 8 w0 et 87

If m, n, 0 are in geometric progression, then which is true among the folowing?

(a) n:m;O (b) m? = no
@ n=mo @ m-2.
o n

45, If% tan A =cot B;¥, N A+ B ="
If tan A =cot B; then A+ B="7
(@) 60° B 90

© A5° ' @ 55

46. v Twysl i Faa Tl g &7
How many diagonals are there in an octagon?

(ay 8 - by 16

© 18 @ 20

47, 2R v By e o) gt R S, o SR G B A RN
If the radius of a sphere be doubled, the area of its surface will become

(a) g/ Double () N/ Three Times

Je'f AR AT/ Four Times . (@) FEE/ None

\
Y

TE-02 14 March 2019
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48.

49.

50.-

51.

3T 94 Ugel, A 3R B 311 o gaid 8:13 mimaﬁnﬂm&ﬁlﬁAaﬁéﬁwmwé?

Eighteen years ago, the ratio of A’s age to B's age was 8:13. Their present ratio is 5:7; What
is the present age of A.

(&) 60 (b)y 70

(e 80 @ 40

AR (3} 7=260; FRx—  F AW

Ir (3”3)+ 7 = 250; then x1s equal to

(@ 5 By 2
¢ 3 d 1
(0,3) 3 (4,0) o Fdwilent % sftet bt g0t Reaft &t 7

What is the distance between the coordinates (0,3) and (4,0)?

@/ 5 b 7
& 1 ' (d 12

U T, U vl g 3R v wha e e v Trafa § e fig & foer st R, o e gee s,
sfl e fim? ' |

A feather, a plastic ball and a steel ball are dropped simultaneously from a common point in

vacuum. Which one will touch the ground first?

(a) WeTia/ Steel Ball

by @/ Feath'er

{c) e e / Plastic Ball

\(;1{ afi us W?IWWW{W@%I / All will reach at the same time

TE-02 15 : March 2019
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5o, e =, g e, ndaneRe & 6.4 Freier A, a0 fire & e et | T Rrelivhet/ sfesier <

53.

54.

55.

56.

BTy

A man takes 30 minutes to cover a distance of 6.4 kilometers due east on a bicycle. His
velocity in kilometers / hour will be

() 3.2 ¢y 128
(cp 256 @ 64

LE 19.62%@@3@@@%@%%%%1@,qu@ﬁﬁﬁwwaﬂm?

A ball is dropped from a window of 19.62 meters high. How long will it take to reach the
ground? '

(a) 1lsec : by 4sec

\(9/ 2 sec @ 0.5 sec

¥ o A gerT ST, e B TR
In comparison to pure water, Boiling point of impure water
(a) [aE ® / is same
N/ wadl & / increases
{c) el & / decreases
(d) Tae) Tl & TR wedi R/ first decreases then Increases

et ettt forvra i =1 ST

Ratio of Kinetic energy to potential energy is .
g/ vifegh ®) gh/2’
(c) mgh (d) mu” / 2
Sy e g ¥, et & R 1

As temperature riges, particles of matter

( Asi=etd & / Move faster

() - RY=Ed €/ Move slower

{c) T % G fEdTEa g 2 / No change w.r.t temperature
(d) 370 8 & &S 78 / None of the above

TE-02 16 - March 2019
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57. TRwferfiaa 3 & farm sueor % 3w & greehir 5 o e Bl 2

Which of the following instrument is used to measure magnetic field?

(a) oWy / Thermometer LBy v HIE/ Flux meter
(©  Wnfler/ Pyrometer (d) Bmde/ Hygrometer

58 3T T T H BT A FH B g Ry T 2

Heat produced due to flow of current through a conductor is given by formula

‘ a2
@ I = I'Rt ® H- KRE
{c) H =V \g;l)/ All of the above

59. 1y wate <Y faem &
Direction of flow of current is from
\,@{) FRRTeH fHTE o HehrUeen efifae / Negative Terminal to Positive Terminal
| (b)  FeRrIeH et & TR fifrer / Positive Terminal to Negative Terminal
(¢ <4/ Both '
(&) 39 H g AEH/ None of these

60.  telt T ek e T MR 600 N B | =11 W 5 T o6 10 021 27
The Weight of an object on Farth is 600 N. What will be its weight on moon?
() ON o ’
(by 600N
& 600 N %1/ Less than 600 N

(d) 600 N 1ftrh / More than 600 N

THE-02 17 March 2019
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5. ell eregfim s et 3 WA aien BN H S for ft oiF, S 3 it e I Ty ook o7k e
ST Reeft srsr 3 Tor aTg S 3T T STHRT S| N

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and
MINUS ONE for wrong answer. Multiple answers for a question will be regarded as & wrong answer.

6. uﬂgﬁﬂﬁm@ﬁaﬂtw%%&mgmgmgmgﬁﬁa%mw%,ﬁﬁommﬁzm,%ﬁﬁ%@mam
TR sfeiet R ST & | T o, T-gfen 7 g el fea smen '

Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not
be evaluated.

7. aft suav A, A R i SO STE o o 3 G 3 e e &1 st & e e fea s

Space available in the booklet could be used for rough wark, if required. No separate sheet will be provided.

8. wﬁ@rﬁﬂtﬂzmmmmﬁqﬁ,qﬂwﬁﬁw@ﬁwﬂzmg@mm%@m@mlﬁmﬁﬁmﬁw%mﬁ
FETET 0 B

Before signing the attendance sheet, the candidate should write the Bookiet Code in the attendance sheet.
Candidates should sign against THEIR names only.

9. uftenr s ata (1) wier wiwd fafe vlan semar o= (2)@OMR3ﬂwﬁzﬁﬁﬁwﬁwﬁ6mW%ﬁﬁﬁ@iﬁr
T afteneff 20 4 & S|

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the tnvigilator and shall not be carried by the candidate under any circumstances.

10. Rl i 3 Fieler 3 ged 3t Reelt oft wifeveran/ R 8 % TR H, SUlef FOOT EE T S|

In case of any ambiguity/ dispute arises on account of interpretation of Hindi version, English version shall
finally prevail.
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